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QUESTION 1

Given the two SQL procedures shown below: 

What is the expected output if procedure S1 is invoked with the value 1provided for parameter V1? 

A. NULL 

B. 2 

C. 5 

D. 7 

Correct Answer: D 

 

 

QUESTION 2

Which tool can be used to get quick static SQL Explain data from packages? 

A. db2expln 

B. db2exfmt 

C. Control Center 

D. DB2 command center 

Correct Answer: A 

 

 

QUESTION 3
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Which statement will create a scalar function named FCN1? 

A. CREATE SCALAR FUNCTION fcn1(v1 CHAR(3)) RETURNS CHAR(3) ?CREATE SCALAR FUNCTION fcn1(v1
CHAR(3)) RETURNS CHAR(3) 

B. CREATE FUNCTION fcn1(v1 CHAR(3)) RETURNS ROW CONTAINING CHAR(3) ?CREATE FUNCTION fcn1(v1
CHAR(3)) RETURNS ROW CONTAINING CHAR(3) 

C. CREATE SCALAR FUNCTION fcn1(v1 CHAR(3)) RETURNS ROW CONTAINING CHAR(3) ?CREATE SCALAR
FUNCTION fcn1(v1 CHAR(3)) RETURNS ROW CONTAINING CHAR(3) 

D. CREATE FUNCTION fcn1(v1 CHAR(3)) RETURNS CHAR(3) ?CREATE FUNCTIONfcn1(v1 CHAR(3)) RETURNS
CHAR(3) 

Correct Answer: D 

 

 

QUESTION 4

Click the Exhibit button. 

Referring to the exhibit, which two statements are correct? (Choose two.) 

A. If the EMPLOYEE_TEMP table exists, the execution order is 1,2,3. 

B. If the EMPLOYEE_TEMP table does not exist, the execution order is 1,4,3. 

C. If the EMPLOYEE_TEMP table exists, the execution order is 4,1,2,3. 

D. If the EMPLOYEE_TEMP table does not exist, the execution order is 4,1,3. 

E. If the messages table does not exist, the SQL procedure will still compile. 

Correct Answer: AB 

 

 

QUESTION 5

Given the following code 
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What would be value of parm2 if the following proc1 called as call proc1(3, ?)? 

A. 0 

B. 10 

C. 3 

D. 8 

Correct Answer: B 
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